

		AUSTIN					cos	T OF ATTENDA	NCE								
		TUITION E	Y PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CF	IARGED TO ST	UDENT)							IND	IRECT COSTS	S (NOT CHARG	ED TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$19.91	\$16,050.00	\$0.00	\$0.00	\$16,050.00	9	\$8,676.00	\$5,067.00	\$2,727.00	\$32,520.00	\$4,347.00	\$5,067.00	\$2,727.00	\$28,191.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$19.91	\$16,050.00	\$0.00	\$0.00	\$16,050.00	12	\$11,568.00	\$6,756.00	\$3,636.00	\$38,010.00	\$5,796.00	\$6,756.00	\$3,636.00	\$32,238.00
Business Administration	usiness Administration Diploma / 33 Morning 800 \$20.06 \$16,050.00 \$0.00 \$0.00 \$16,050.00											\$2,727.00	\$32,520.00	\$4,347.00	\$5,067.00	\$2,727.00	\$28,191.00
Business Administration	inistration Diploma / 48 Evening 800 \$20.06 \$16,050.00 \$0.00 \$16,050.00										\$6,756.00	\$3,636.00	\$38,010.00	\$5,796.00	\$6,756.00	\$3,636.00	\$32,238.00
Commercial Motor Vehicle Operator	Diploma / 16	Special	160	\$32.69	\$5,230.00	\$200.00*	\$70.00	\$5,500.00	4	\$3,856.00	\$2,252.00	\$1,212.00	\$12,820.00	\$1,932.00	\$2,252.00	\$1,212.00	\$10,896.00
Cyber Security	Diploma / 33	Online	700	\$19.00	\$13,300.00	\$0.00	\$0.00	\$13,300.00	9	\$8,676.00	\$0.00	\$2,727.00	\$24,703.00	\$4,347.00	\$0.00	\$2,727.00	\$20,374.00
Data Science	Diploma / 33	Online	700	\$19.00	\$13,300.00	\$0.00	\$0.00	\$13,300.00	9	\$8,676.00	\$0.00	\$2,727.00	\$24,703.00	\$4,347.00	\$0.00	\$2,727.00	\$20,374.00
HVAC	Diploma / 36	Morning	942	\$21.26	\$20,025.00	\$0.00	\$0.00	\$20,025.00	9	\$8,676.00	\$5,067.00	\$2,727.00	\$36,495.00	\$4,347.00	\$5,067.00	\$2,727.00	\$32,166.00
Medical Assistant	Diploma / 36	Morning	978	\$17.28	\$16,900.00	\$0.00	\$0.00	\$16,900.00	9	\$8,676.00	\$5,067.00	\$2,727.00	\$33,370.00	\$4,347.00	\$5,067.00	\$2,727.00	\$29,041.00
Medical Assistant	Diploma / 54	Evening	978	\$17.28	\$16,900.00	\$0.00	\$0.00	\$16,900.00	14	\$13,496.00	\$7,882.00	\$4,242.00	\$42,520.00	\$6,762.00	\$7,882.00	\$4,242.00	\$35,786.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	\$0.00	\$0.00	\$16,550.00	9	\$8,676.00	\$5,067.00	\$2,727.00	\$33,020.00	\$4,347.00	\$5,067.00	\$2,727.00	\$28,691.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	\$0.00	\$0.00	\$16,550.00	13	\$12,532.00	\$7,319.00	\$3,939.00	\$40,340.00	\$6,279.00	\$7,319.00	\$3,939.00	\$34,087.00
Mobile Application Developer	Diploma / 33	Online	700	\$19.00	\$13,300.00	\$0.00	\$0.00	\$13,300.00	9	\$8,676.00	\$0.00	\$2,727.00	\$24,703.00	\$4,347.00	\$0.00	\$2,727.00	\$20,374.00
Pharmacy Technician	Diploma / 33	Morning	848	\$19.63	\$16,650.00	\$0.00	\$0.00	\$16,650.00	9	\$8,676.00	\$5,067.00	\$2,727.00	\$33,120.00	\$4,347.00	\$5,067.00	\$2,727.00	\$28,791.00
Pharmacy Technician	Diploma / 45	Evening	848	\$19.63	\$16,650.00	\$0.00	\$0.00	\$16,650.00	12	\$11,568.00	\$6,756.00	\$3,636.00	\$38,610.00	\$5,796.00	\$6,756.00	\$3,636.00	\$32,838.00
Software Developer	Diploma / 33	Morning	700	\$19.00	\$13,300.00	\$0.00	\$0.00	\$13,300.00	9	\$8,676.00	\$5,067.00	\$2,727.00	\$29,770.00	\$4,347.00	\$5,067.00	\$2,727.00	\$25,441.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$18.71	\$13,100.00	\$260.00**	\$0.00	\$13,360.00	7	\$6,748.00	\$3,941.00	\$2,121.00	\$26,170.00	\$3,381.00	\$3,941.00	\$2,121.00	\$22,803.00



		BROWNSVI					cos	T OF ATTENDA	NCE								
		TUITION B	Y PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CF	ARGED TO ST	UDENT)							IND	IRECT COSTS	(NOT CHARG	ED TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00
Administrative Assistant	Diploma / 27	Morning	650	\$20.69	\$13,450.00	\$0.00	\$0.00	\$13,450.00	7	\$6,748.00	\$1,904.00	\$2,121.00	\$24,223.00	\$3,381.00	\$1,904.00	\$2,121.00	\$20,856.00
Administrative Assistant	Diploma / 39	Evening	650	\$20.69	\$13,450.00	\$0.00	\$0.00	\$13,450.00	10	\$9,640.00	\$2,720.00	\$3,030.00	\$28,840.00	\$4,830.00	\$2,720.00	\$3,030.00	\$24,030.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$19.91	\$16,050.00	\$0.00	\$0.00	\$16,050.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$29,901.00	\$4,347.00	\$2,448.00	\$2,727.00	\$25,572.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$19.91	\$16,050.00	\$0.00	\$0.00	\$16,050.00	12	\$11,568.00	\$3,264.00	\$3,636.00	\$34,518.00	\$5,796.00	\$3,264.00	\$3,636.00	\$28,746.00
Business Administration	Diploma / 33	Morning	800	\$20.06	\$16,050.00	\$0.00	\$0.00	\$16,050.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$29,901.00	\$4,347.00	\$2,448.00	\$2,727.00	\$25,572.00
Business Administration	Diploma / 48	Evening	800	\$20.06	\$16,050.00	\$0.00	\$0.00	\$16,050.00	12	\$11,568.00	\$3,264.00	\$3,636.00	\$34,518.00	\$5,796.00	\$3,264.00	\$3,636.00	\$28,746.00
Computer Support Specialist	Diploma / 27	Morning	720	\$18.19	\$13,100.00	\$0.00	\$0.00	\$13,100.00	7	\$6,748.00	\$1,904.00	\$2,121.00	\$23,873.00	\$3,381.00	\$1,904.00	\$2,121.00	\$20,506.00
Cosmetology	Diploma / 40	Day	1000	\$17.50	\$17,500.00	\$0.00	\$0.00	\$17,500.00	10	\$9,640.00	\$2,720.00	\$3,030.00	\$32,890.00	\$4,830.00	\$2,720.00	\$3,030.00	\$28,080.00
Electrical Technician	Diploma / 27	Morning	720	\$18.19	\$13,100.00	\$260.00**	\$0.00	\$13,360.00	7	\$6,748.00	\$1,904.00	\$2,121.00	\$24,133.00	\$3,381.00	\$1,904.00	\$2,121.00	\$20,766.00
Medical Assistant	Diploma / 36	Morning	978	\$17.28	\$16,900.00	\$0.00	\$0.00	\$16,900.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$30,751.00	\$4,347.00	\$2,448.00	\$2,727.00	\$26,422.00
Medical Assistant	Diploma / 54	Evening	978	\$17.28	\$16,900.00	\$0.00	\$0.00	\$16,900.00	14	\$13,496.00	\$3,808.00	\$4,242.00	\$38,446.00	\$6,762.00	\$3,808.00	\$4,242.00	\$31,712.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	\$0.00	\$0.00	\$16,550.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$30,401.00	\$4,347.00	\$2,448.00	\$2,727.00	\$26,072.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	\$0.00	\$0.00	\$16,550.00	13	\$12,532.00	\$3,536.00	\$3,939.00	\$36,557.00	\$6,279.00	\$3,536.00	\$3,939.00	\$30,304.00
Pharmacy Technician	Diploma / 33	Morning	848	\$19.63	\$16,650.00	\$0.00	\$0.00	\$16,650.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$30,501.00	\$4,347.00	\$2,448.00	\$2,727.00	\$26,172.00
Pharmacy Technician	Diploma / 45	Evening	848	\$19.63	\$16,650.00	\$0.00	\$0.00	\$16,650.00	12	\$11,568.00	\$3,264.00	\$3,636.00	\$35,118.00	\$5,796.00	\$3,264.00	\$3,636.00	\$29,346.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	\$0.00	\$0.00	\$1,200.00	2	\$1,928.00	\$544.00	\$606.00	\$4,278.00	\$966.00	\$544.00	\$606.00	\$3,316.00



		CORPUS CH					cos	T OF ATTENDA	ANCE								
		TUITION E	Y PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CF	ARGED TO ST	(UDENT)							IND	IRECT COSTS	(NOT CHARG	ED TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	\$0.00	\$0.00	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$19.91	\$16,050.00	\$0.00	\$0.00	\$16,050.00	9	\$8,676.00	\$4,887.00	\$2,727.00	\$32,340.00	\$4,347.00	\$4,887.00	\$2,727.00	\$28,011.00
Business Accounting Specialist	siness Accounting Specialist Diploma / 48 Evening 806 \$19.91 \$16,050.00 \$0.00 \$0.00 \$16,050.00												\$37,770.00	\$5,796.00	\$6,516.00	\$3,636.00	\$31,998.00
Business Administration	Diploma / 33	Morning	800	\$20.06	\$16,050.00	\$0.00	\$0.00	\$16,050.00	9	\$8,676.00	\$4,887.00	\$2,727.00	\$32,340.00	\$4,347.00	\$4,887.00	\$2,727.00	\$28,011.00
Business Administration	Diploma / 48	Evening	800	\$20.06	\$16,050.00	\$0.00	\$0.00	\$16,050.00	12	\$11,568.00	\$6,516.00	\$3,636.00	\$37,770.00	\$5,796.00	\$6,516.00	\$3,636.00	\$31,998.00
Cosmetology	Diploma / 40	Day	1000	\$17.50	\$17,500.00	\$0.00	\$0.00	\$17,500.00	10	\$9,640.00	\$5,430.00	\$3,030.00	\$35,600.00	\$4,830.00	\$5,430.00	\$3,030.00	\$30,790.00
Medical Assistant	Diploma / 36	Morning	978	\$17.28	\$16,900.00	\$0.00	\$0.00	\$16,900.00	9	\$8,676.00	\$4,887.00	\$2,727.00	\$33,190.00	\$4,347.00	\$4,887.00	\$2,727.00	\$28,861.00
Medical Assistant	Diploma / 54	Evening	978	\$17.28	\$16,900.00	\$0.00	\$0.00	\$16,900.00	14	\$13,496.00	\$7,602.00	\$4,242.00	\$42,240.00	\$6,762.00	\$7,602.00	\$4,242.00	\$35,506.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	\$0.00	\$0.00	\$16,550.00	9	\$8,676.00	\$4,887.00	\$2,727.00	\$32,840.00	\$4,347.00	\$4,887.00	\$2,727.00	\$28,511.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	\$0.00	\$0.00	\$16,550.00	13	\$12,532.00	\$7,059.00	\$3,939.00	\$40,080.00	\$6,279.00	\$7,059.00	\$3,939.00	\$33,827.00
Pharmacy Technician	Diploma / 33	Morning	848	\$19.63	\$16,650.00	\$0.00	\$0.00	\$16,650.00	9	\$8,676.00	\$4,887.00	\$2,727.00	\$32,940.00	\$4,347.00	\$4,887.00	\$2,727.00	\$28,611.00
Pharmacy Technician	Diploma / 45	Evening	848	\$19.63	\$16,650.00	\$0.00	\$0.00	\$16,650.00	12	\$11,568.00	\$6,516.00	\$3,636.00	\$38,370.00	\$5,796.00	\$6,516.00	\$3,636.00	\$32,598.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$18.71	\$13,100.00	\$260.00**	\$0.00	\$13,360.00	7	\$6,748.00	\$3,801.00	\$2,121.00	\$26,030.00	\$3,381.00	\$3,801.00	\$2,121.00	\$22,663.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	\$0.00	\$0.00	\$1,200.00	2	\$1,928.00	\$1,086.00	\$606.00	\$4,820.00	\$966.00	\$1,086.00	\$606.00	\$3,858.00



		HARLING					cos	T OF ATTENDA	ANCE								
		TUITION E	Y PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CF	IARGED TO ST	(UDENT)							IND	IRECT COSTS	(NOT CHARG	ED TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	N/A	N/A	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$19.91	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$29,901.00	\$4,347.00	\$2,448.00	\$2,727.00	\$25,572.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$19.91	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$3,264.00	\$3,636.00	\$34,518.00	\$5,796.00	\$3,264.00	\$3,636.00	\$28,746.00
Business Administration	Diploma / 33	Morning	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$29,901.00	\$4,347.00	\$2,448.00	\$2,727.00	\$25,572.00
Business Administration	Diploma / 48	Evening	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$3,264.00	\$3,636.00	\$34,518.00	\$5,796.00	\$3,264.00	\$3,636.00	\$28,746.00
HVAC	Diploma / 36	Morning	942	\$21.26	\$20,025.00	N/A	N/A	\$20,025.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$33,876.00	\$4,347.00	\$2,448.00	\$2,727.00	\$29,547.00
Medical Assistant	Diploma / 36	Morning	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$30,751.00	\$4,347.00	\$2,448.00	\$2,727.00	\$26,422.00
Medical Assistant	Diploma / 54	Evening	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	14	\$13,496.00	\$3,808.00	\$4,242.00	\$38,446.00	\$6,762.00	\$3,808.00	\$4,242.00	\$31,712.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	9	\$8,676.00	\$2,448.00	\$2,727.00	\$30,401.00	\$4,347.00	\$2,448.00	\$2,727.00	\$26,072.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	13	\$12,532.00	\$3,536.00	\$3,939.00	\$36,557.00	\$6,279.00	\$3,536.00	\$3,939.00	\$30,304.00
Medical Office Specialist	Diploma / 30	Morning	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	8	\$7,712.00	\$2,176.00	\$2,424.00	\$27,862.00	\$3,864.00	\$2,176.00	\$2,424.00	\$24,014.00
Medical Office Specialist	Diploma / 45	Evening	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	12	\$11,568.00	\$3,264.00	\$3,636.00	\$34,018.00	\$5,796.00	\$3,264.00	\$3,636.00	\$28,246.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$18.71	\$13,100.00	\$260.00**	N/A	\$13,360.00	7	\$6,748.00	\$1,904.00	\$2,121.00	\$24,133.00	\$3,381.00	\$1,904.00	\$2,121.00	\$20,766.00



		PHARR					cos	T OF ATTENDA	ANCE								
		TUITION B	Y PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CH	ARGED TO ST								IND	IRECT COSTS	(NOT CHARG	ED TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	N/A	N/A	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00
Administrative Assistant	Diploma / 27	Morning	650	\$20.69	\$13,450.00	N/A	N/A	\$13,450.00	7	\$6,748.00	\$2,037.00	\$2,121.00	\$24,356.00	\$3,381.00	\$2,037.00	\$2,121.00	\$20,989.00
Administrative Assistant	Diploma / 39	Evening	650	\$20.69	\$13,450.00	N/A	N/A	\$13,450.00	10	\$9,640.00	\$2,910.00	\$3,030.00	\$29,030.00	\$4,830.00	\$2,910.00	\$3,030.00	\$24,220.00
Business Accounting Specialist	\$16,050.00	9	\$8,676.00	\$2,619.00	\$2,727.00	\$30,072.00	\$4,347.00	\$2,619.00	\$2,727.00	\$25,743.00							
Business Accounting Specialist	usiness Accounting Specialist Diploma / 48 Evening 806 \$19.91 \$16,050.00 N/A N/A \$16,050.00												\$34,746.00	\$5,796.00	\$3,492.00	\$3,636.00	\$28,974.00
Business Administration	Diploma / 33	Morning	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$2,619.00	\$2,727.00	\$30,072.00	\$4,347.00	\$2,619.00	\$2,727.00	\$25,743.00
Business Administration	Diploma / 48	Evening	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$3,492.00	\$3,636.00	\$34,746.00	\$5,796.00	\$3,492.00	\$3,636.00	\$28,974.00
Commercial Motor Vehicle Operator	Diploma / 16	Special	160	\$32.69	\$5,230.00	\$200.00*	\$70.00	\$5,500.00	4	\$3,856.00	\$1,164.00	\$1,212.00	\$11,732.00	\$1,932.00	\$1,164.00	\$1,212.00	\$9,808.00
Computer Support Specialist	Diploma / 27	Morning	720	\$18.19	\$13,100.00	N/A	N/A	\$13,100.00	7	\$6,748.00	\$2,037.00	\$2,121.00	\$24,006.00	\$3,381.00	\$2,037.00	\$2,121.00	\$20,639.00
Medical Assistant	Diploma / 36	Morning	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	9	\$8,676.00	\$2,619.00	\$2,727.00	\$30,922.00	\$4,347.00	\$2,619.00	\$2,727.00	\$26,593.00
Medical Assistant	Diploma / 54	Evening	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	14	\$13,496.00	\$4,074.00	\$4,242.00	\$38,712.00	\$6,762.00	\$4,074.00	\$4,242.00	\$31,978.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	9	\$8,676.00	\$2,619.00	\$2,727.00	\$30,572.00	\$4,347.00	\$2,619.00	\$2,727.00	\$26,243.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	13	\$12,532.00	\$3,783.00	\$3,939.00	\$36,804.00	\$6,279.00	\$3,783.00	\$3,939.00	\$30,551.00
Medical Office Specialist	Diploma / 30	Morning	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	8	\$7,712.00	\$2,328.00	\$2,424.00	\$28,014.00	\$3,864.00	\$2,328.00	\$2,424.00	\$24,166.00
Medical Office Specialist	Diploma / 45	Evening	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	12	\$11,568.00	\$3,492.00	\$3,636.00	\$34,246.00	\$5,796.00	\$3,492.00	\$3,636.00	\$28,474.00
Pharmacy Technician	Diploma / 33	Morning	848	\$19.63	\$16,650.00	N/A	N/A	\$15,550.00	9	\$8,676.00	\$2,619.00	\$2,727.00	\$29,572.00	\$4,347.00	\$2,619.00	\$2,727.00	\$25,243.00
Pharmacy Technician	Diploma / 45	Evening	848	\$19.63	\$16,650.00	N/A	N/A	\$15,550.00	12	\$11,568.00	\$3,492.00	\$3,636.00	\$34,246.00	\$5,796.00	\$3,492.00	\$3,636.00	\$28,474.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$18.71	\$13,100.00	\$260.00**	N/A	\$13,360.00	7	\$6,748.00	\$2,037.00	\$2,121.00	\$24,266.00	\$3,381.00	\$2,037.00	\$2,121.00	\$20,899.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	N/A	N/A	\$1,200.00	2	\$1,928.00	\$582.00	\$606.00	\$4,316.00	\$966.00	\$582.00	\$606.00	\$3,354.00

Unless otherwise listed, tuition includes student textbooks

^{*}Physical/Drug Test
** Tool Kit



	S	AN ANTONIO					cos	T OF ATTENDA	ANCE								
		TUITION E	Y PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CF	ARGED TO ST	UDENT)							IND	IRECT COSTS	(NOT CHARG	ED TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	N/A	N/A	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$19.91	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$3,141.00	\$2,727.00	\$30,594.00	\$4,347.00	\$3,141.00	\$2,727.00	\$26,265.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$19.91	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$4,188.00	\$3,636.00	\$35,442.00	\$5,796.00	\$4,188.00	\$3,636.00	\$29,670.00
Business Administration	Diploma / 33	Morning	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$3,141.00	\$2,727.00	\$30,594.00	\$4,347.00	\$3,141.00	\$2,727.00	\$26,265.00
Business Administration	Diploma / 48	Evening	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$4,188.00	\$3,636.00	\$35,442.00	\$5,796.00	\$4,188.00	\$3,636.00	\$29,670.00
Commercial Motor Vehicle Operator	Diploma / 16	Special	160	\$32.69	\$5,230.00	\$200.00*	\$70.00	\$5,500.00	4	\$3,856.00	\$1,396.00	\$1,212.00	\$11,964.00	\$1,932.00	\$1,396.00	\$1,212.00	\$10,040.00
Computer Support Specialist	Diploma / 27	Morning	720	\$18.19	\$13,100.00	N/A	N/A	\$13,100.00	7	\$6,748.00	\$2,443.00	\$2,121.00	\$24,412.00	\$3,381.00	\$2,443.00	\$2,121.00	\$21,045.00
Electrical Technician	Diploma / 27	Morning	720	\$18.19	\$13,100.00	\$260.00**	N/A	\$13,360.00	7	\$6,748.00	\$2,443.00	\$2,121.00	\$24,672.00	\$3,381.00	\$2,443.00	\$2,121.00	\$21,305.00
HVAC	Diploma / 36	Morning	942	\$21.26	\$20,025.00	N/A	N/A	\$20,025.00	9	\$8,676.00	\$3,141.00	\$2,727.00	\$34,569.00	\$4,347.00	\$3,141.00	\$2,727.00	\$30,240.00
Medical Assistant	Diploma / 36	Morning	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	9	\$8,676.00	\$3,141.00	\$2,727.00	\$31,444.00	\$4,347.00	\$3,141.00	\$2,727.00	\$27,115.00
Medical Assistant	Diploma / 54	Morning	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	14	\$13,496.00	\$4,886.00	\$4,242.00	\$39,524.00	\$6,762.00	\$4,886.00	\$4,242.00	\$32,790.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	9	\$8,676.00	\$3,141.00	\$2,727.00	\$31,094.00	\$4,347.00	\$3,141.00	\$2,727.00	\$26,765.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	13	\$12,532.00	\$4,537.00	\$3,939.00	\$37,558.00	\$6,279.00	\$4,537.00	\$3,939.00	\$31,305.00
Software Developer	Diploma / 33	Online	700	\$19.00	\$13,300.00	N/A	N/A	\$13,300.00	9	\$8,676.00	\$3,141.00	\$2,727.00	\$27,844.00	\$4,347.00	\$3,141.00	\$2,727.00	\$23,515.00
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$18.71	\$13,100.00	\$260.00**	N/A	\$13,360.00	7	\$6,748.00	\$2,443.00	\$2,121.00	\$24,672.00	\$3,381.00	\$2,443.00	\$2,121.00	\$21,305.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	N/A	N/A	\$1,200.00	2	\$1,928.00	\$698.00	\$606.00	\$4,432.00	\$966.00	\$698.00	\$606.00	\$3,470.00



	S	AN ANTONIO					cos	T OF ATTENDA	ANCE								
		TUITION E	Y PROGRAM								OFF CAMPUS				WITH P	ARENT	
		DIRECT COSTS (CF	ARGED TO ST	UDENT)							IND	IRECT COSTS	(NOT CHARG	ED TO STUDE	NT)		
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	N/A	N/A	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00
Administrative Assistant	Diploma / 27	Morning	650	\$20.69	\$13,450.00	N/A	N/A	\$13,450.00	7	\$6,748.00	\$2,170.00	\$2,121.00	\$24,489.00	\$3,381.00	\$2,170.00	\$2,121.00	\$21,122.00
Administrative Assistant	Diploma / 39	Evening	650	\$20.69	\$13,450.00	N/A	N/A	\$13,450.00	10	\$9,640.00	\$3,100.00	\$3,030.00	\$29,220.00	\$4,830.00	\$3,100.00	\$3,030.00	\$24,410.00
Business Accounting Specialist	Diploma / 33	Morning	806	\$19.91	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$2,790.00	\$2,727.00	\$30,243.00	\$4,347.00	\$2,790.00	\$2,727.00	\$25,914.00
Business Accounting Specialist	Diploma / 48	Evening	806	\$19.91	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$3,720.00	\$3,636.00	\$34,974.00	\$5,796.00	\$3,720.00	\$3,636.00	\$29,202.00
Business Administration	Diploma / 33	Morning	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$2,790.00	\$2,727.00	\$30,243.00	\$4,347.00	\$2,790.00	\$2,727.00	\$25,914.00
Business Administration	Diploma / 48	Evening	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$3,720.00	\$3,636.00	\$34,974.00	\$5,796.00	\$3,720.00	\$3,636.00	\$29,202.00
Cosmetology	Diploma/ 40	Day	1000	\$17.50	\$17,500.00	N/A	N/A	\$17,500.00	10	\$9,640.00	\$3,100.00	\$3,030.00	\$33,270.00	\$4,830.00	\$3,100.00	\$3,030.00	\$28,460.00
Medical Assistant	Diploma / 36	Morning	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	9	\$8,676.00	\$2,790.00	\$2,727.00	\$31,093.00	\$4,347.00	\$2,790.00	\$2,727.00	\$26,764.00
Medical Assistant	Diploma / 54	Evening	978	\$17.28	\$16,900.00	N/A	N/A	\$16,900.00	14	\$13,496.00	\$4,340.00	\$4,242.00	\$38,978.00	\$6,762.00	\$4,340.00	\$4,242.00	\$32,244.00
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	9	\$8,676.00	\$2,790.00	\$2,727.00	\$30,743.00	\$4,347.00	\$2,790.00	\$2,727.00	\$26,414.00
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	13	\$12,532.00	\$4,030.00	\$3,939.00	\$37,051.00	\$6,279.00	\$4,030.00	\$3,939.00	\$30,798.00
Medical Office Specialist	Diploma / 30	Morning	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	8	\$7,712.00	\$2,480.00	\$2,424.00	\$28,166.00	\$3,864.00	\$2,480.00	\$2,424.00	\$24,318.00
Medical Office Specialist	Diploma / 45	Evening	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	12	\$11,568.00	\$3,720.00	\$3,636.00	\$34,474.00	\$5,796.00	\$3,720.00	\$3,636.00	\$28,702.00
Pharmacy Technician	Diploma / 33	Morning	848	\$19.63	\$16,650.00	N/A	N/A	\$16,650.00	9	\$8,676.00	\$2,790.00	\$2,727.00	\$30,843.00	\$4,347.00	\$2,790.00	\$2,727.00	\$26,514.00
Pharmacy Technician	Diploma / 45	Evening	848	\$19.63	\$16,650.00	N/A	N/A	\$16,650.00	12	\$11,568.00	\$3,720.00	\$3,636.00	\$35,574.00	\$5,796.00	\$3,720.00	\$3,636.00	\$29,802.00
Nurse Aide	Certificate / 5	Morning/Afternoon/Evening	100	\$12.00	\$1,200.00	N/A	N/A	\$1,200.00	2	\$1,928.00	\$620.00	\$606.00	\$4,354.00	\$966.00	\$620.00	\$606.00	\$3,392.00



		WACO					cos	T OF ATTENDA	ANCE									
		TUITION B	Y PROGRAM								OFF CAMPUS				WITH P	ARENT		
		DIRECT COSTS (CH	ARGED TO ST	UDENT)					INDIRECT COSTS (NOT CHARGED TO STUDENT)									
Programs	Credential / Est. Weeks (based on shift)	Shift	Clock/Contact Hours	Tuition Rate per Clock/Contact Hour	Tuition	Other Fees	Registration	Total Cost	Months in COA	Room and Board	Travel	Personal	Total Cost of Attendance	Room and Board	Travel	Personal	Total Cost of Attendance	
Management	Associate / 45	Online	1080	\$20.46	\$22,100.00	N/A	N/A	\$22,100.00	12	\$11,568.00	\$0.00	\$3,636.00	\$37,304.00	\$5,796.00	\$0.00	\$3,636.00	\$31,532.00	
Business Administration	Diploma / 33	Morning	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	9	\$8,676.00	\$3,492.00	\$2,727.00	\$30,945.00	\$4,347.00	\$3,492.00	\$2,727.00	\$26,616.00	
Business Administration	Diploma / 48	Evening	800	\$20.06	\$16,050.00	N/A	N/A	\$16,050.00	12	\$11,568.00	\$4,656.00	\$3,636.00	\$35,910.00	\$5,796.00	\$4,656.00	\$3,636.00	\$30,138.00	
Electrical Technician	Diploma / 27	Morning	720	\$18.19	\$13,100.00	\$260.00**	N/A	\$13,360.00	7	\$6,748.00	\$2,716.00	\$2,121.00	\$24,945.00	\$3,381.00	\$2,716.00	\$2,121.00	\$21,578.00	
HVAC	Diploma / 36	Morning	942	\$21.26	\$20,025.00	N/A	N/A	\$20,025.00	9	\$8,676.00	\$3,492.00	\$2,727.00	\$34,920.00	\$4,347.00	\$3,492.00	\$2,727.00	\$30,591.00	
Medical Billing and Coding Specialist	Diploma / 36	Morning	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	9	\$8,676.00	\$3,492.00	\$2,727.00	\$31,445.00	\$4,347.00	\$3,492.00	\$2,727.00	\$27,116.00	
Medical Billing and Coding Specialist	Diploma / 51	Evening	926	\$17.87	\$16,550.00	N/A	N/A	\$16,550.00	13	\$12,532.00	\$5,044.00	\$3,939.00	\$38,065.00	\$6,279.00	\$5,044.00	\$3,939.00	\$31,812.00	
Medical Office Specialist	Diploma / 30	Morning	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	8	\$7,712.00	\$3,104.00	\$2,424.00	\$28,790.00	\$3,864.00	\$3,104.00	\$2,424.00	\$24,942.00	
Medical Office Specialist	Diploma / 45	Evening	780	\$19.94	\$15,550.00	N/A	N/A	\$15,550.00	12	\$11,568.00	\$4,656.00	\$3,636.00	\$35,410.00	\$5,796.00	\$4,656.00	\$3,636.00	\$29,638.00	
Welding	Diploma / 27	Morning/Afternoon/Evening	700	\$18.71	\$13,100.00	\$260.00**	N/A	\$13,360.00	7	\$6,748.00	\$2,716.00	\$2,121.00	\$24,945.00	\$3,381.00	\$2,716.00	\$2,121.00	\$21,578.00	